QUESTICMS REPORT
for POST NRC REVIEW R1
_ 43. 061 K6.02 001

~ Given the following conditions:
A reecter trip has occurred cn Unit 1 due to a loss of Main Feedwater.
Curing the periormence of 1-E-0, Reactor Trip or Eafety Injection, AFW Pump
1-FW-P-2 trips on overspeed.

Pricr tc eny acticn by the crew, which CNE cf the fcllowing describes the Steam
Generators that are being supplied with AFW flow?

A. All SGs

B. Aand B SGs only

C. Aand C SGsonly

Dy B and C SGs only

the cther AFW pumps only after manual alignment.
A, B, and C are all incorrect, since SG 1A will have no AFW flow without crew manual

actions.
Kriowledge of the eflect that a loss of malfunction of the feliowing will have on the (SYSTEM): Pumps.

Questicn Number: 41

Tier 2 Group 1

Importance Rating: RO 2.6
Technical Reference: NCRODP-26-NA

Fropesed references to be provided to applicants during examination:  None
Learning Objective:

Question Source: New
Question History:
Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Versionn 0123456789
Answer: DCADCCBADA Scramble Range: A - D

Monday, November 06, 2006 11:25:27 AM 63



GQUESTIONS REPORT
for FOST NRC REVIEW R1
44. 062 AG2.4.6 001

Given the foliowing:
A lerge-breek LOCA has cccurred on Unit 1.
The crew is perferming acticns of 1-E-0, Reactor Trip or Safety Injection.
The crew cetermines that there is MO SW flow to the RS Heat Exchangers.

Which CNE of the fclicwing actions is required in accerdance with 1-E-G?

A. Goto C-AP-12, Loss of Service Weater. When completed, return to 1-E-0.
B. Perform 0-AP-12, Loss of Service Water, while continuing with 1-E-0.

C. Initiate Attachment 5, Verification of Phase A Isclation, to establish REHX SW flow
while continuing with 1-E-0.

Dv Initicte Attachment 2, Verification of Fhese B lscigtion, to establish REHX SW flow
i while continuing with 1-E-0.

D. Cerrect. Per DNAP-CECS rules of usage, the ECFs have priority over APs and ARs.
Also, 0-AP-12 does not address loss of SW flow to RSHX's.

A. Incorrect. (see C).

B. Incorrect. Attachment 2 is directed by 1-E-0 step 11 and also by CAP.

D. Incorrect. (see C).

Kncwiedge of symiptem based EOP mitigation strategies.

Question Number: 13
Tier 1 Group 1
Importance Rating: RO 3.1

Technical Reference: 1-E-0

Proposed references to be provided to epplicants during examination: None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS Time: 1 Points: 1.00 Version: 0123456789
Answerr DCABBCCDAC Scramble Range: A - D
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QUESTIONS REPORT
for POST NRC REVIEW R1
45, 062 K2.01 001

‘f “ 'Th-é?c!lcv\/ing piant conditions exist.

e Unit1is at 100% power

« Unit 2 is in Mode 3 following a refueling cutage with all 3 RCPs running

¢« Bus 5in the switchyard is out of service

 An eerthqueake occurs that causes Unit 1 to trip and the loss of bus 4 in the
switchyard

Which CNE of the following cescribes the Unit 1 and Unit 2 Reactor Coolant Pump
(RCP) status? (assume &ll equipment operates nermally)

A. Only Unit 1 "C" and Unit 2 "C" RCPs are running.

Bv All RCP’s running except Unit 2 “A” & “B”.
C. Al RCPs running except Unit 1 "C" and Unit 2 "C".

D. Only Unit 1 "A" and Unit 2 "A" RCPs are running.

B. Correct. Bus 4 supplies "A" and "B" REST, which will be supplying unit-2 "A" and "B"
4160V SS busses. Loss of bus 4 will cause unit-2 "A" end "B" RCPs to trip on UF/UV.
Unit-2 "C" RCP will be unaffected, since it is powered from "C" SS bus, which is
poewered from "C" RSST, which is powered from bus 3. None of unit-1 RCPs will be
affected, since unit-1 SS busses are powered from generator output via SS Xfmrs.

A, C, D all incorrect (see B).

Kriowledge of electrical power supplies to the follewing: Major system loads.

Question Number: 42
Tier 2 Group 1
Importance Rating: RO 3.3

Technical Reference:
FPrepesed references to be provided to epplicants during examination:  None

Learning Objective: OB 16091
Question Source: Bank
Question History: 5998

Question Cognitive Level:  Higher
10 CFR Part 55 Content: 41

Comments:

MCS  Time: |1 Points: 1.00 Version: 01234567809
Answer: BCDDCABBAA Scramble Range: A -D
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QUESTIONS REPORT
for POST NRC REVIEW R1

46. 063 K2.01 001

Given the following conditions:

Unit 2 was operating at 100% power.

2-CH-P-1A was running.

A loss of DC bus 2-1ll has occurred.

While stabilizing the unit, Safety Injection actuated.

¢ & s o

Which CNE of the following pump combinations will exist as a result of these failures?
Ay 2-CH-P-1A running, 2-CH-P-1B not running, 2-CH-P-1C not running
B. 2-CH-P-1A running, 2-CH-P-1B not running, 2-CH-P-1C ru'nning

2-CH-P-1A running, 2-CH-P-1B running, 2-CH-P-1C not running

o 0O

2-CH-P-1A not running, 2-CH-P-1B running, 2-CH-P-1C running

A. Correct. Bus 2J supplies power to 2-CH-P-1B. Lesing DC control power to bus 2J
(CC 2-1) will cause equipment to NCT start s required. 2-CH-P-1A will remain
running. 2-CH-P-1C has no auto-start features so will remain not running.

B and D are incorrect because 2-CH-P-1C has no auto-start feature.

C and D ere incorrect because 2-CH-P-1B has no control power and will not be
running.

Kricwledge cf electricel power supplies to the following: Mzjor DC lcads.

Question Number: 43

Tier 2 Group 1

Importance Rating: RO 2.9

Technical Reference: NCRODP-18-NA

Proposed references to be provided to applicants during examination:  None
Learning Objective: OB 11969

Question Source: Bank

Question History: 3136

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: AAAABDADCRB Scramble Range: A -D

Monday, November 06, 2006 11:25:27 AM 66




GUESTIONS REPORT
for FOST NRC REVIEW R1
47. 064 A3.01 001

Given the following:

Unit 1 is at 100% power.
1H 41€CV bus normel feecer breaker 15H11 spuricusly tripped open.

Which ONE of the fcllewing describes the response of 1H EDG and starting air

system?

1H EDG will...

A. stert and load. The starting air compressors will stert directly from the EDG start
signel, end will step when air receiver pressure reaches 200 psig.

By ctert and load. The sterting air compressors will start when air receiver pressure
drops to 200 psig, and will stop when eir receiver pressure reaches 240 psig.

C. start and run unlocaded. The starting air compresscrs will start directly from the
EDC start signal, and will stop when air receiver pressure reaches 200 psig.
~

D. start and run uniceded. The sterting air compressors will start when air receiver
pressure creps to 200 peig, and will stop when air receiver pressure reaches 240

| psig. ,

B. Correct. The EDG will stert end lcad on bus UV if there is a spurious breaker trip thet

de-energizes the bus. The eir compressors will stert on low pressure in the associated

receiver. They automatically stop when 240 psig is restered. The EDG output breaker

would not close onto the bus if there was a lockout, but in this case there is no lockout.

A and C are incorrect because the sterling air compresscrs do not start directly from a

EDG start signal.

C and D ere incorrect because the EDG will load (see D).

Ability to monitor automatic operations of the (SYSTEM) including: Automatic start of compressor and ED/G.
Question Number: 44

Tier 2 Group 1

Importance Rating: RO 4.1

Technicel Reference: NCRGCDP-55-NA

Prcposed references {o be provicded to applicants during examination: None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:
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QUESTIONS REPCRT
for PGST NRC REVIEW R1

48. 065 AG2.1.23 001

]

Unit 1 is at 100% power.

The crew is responding to a loss of instrument air using 1-AP-28, "Loss of Instrument
Air," when the RO icentifies thet pressurizer level is 85% and rising.

Which ONE of the following cescribes the actions required?

A. Continue performence of 1-AP-28 until an autometic reactor trip occurs, then exit
1-AP-28 and initiate performance of 1-E-0.

By Immediately initiate periormance of 1-E-0, "Reector Trip or Safety Injection,” and
continue perfarmance of 1-AP-28 as resources permit.

C. Exit 1-AP-28 and immediately initiate perfcrmeance of 1-E-0. Resume actions of
1-AP-28 upon exiting the EOPs.

D. Continue perfcrmeance of 1-AP-28 until completion, then if the cause for the
pressurizer level increase has not been corrected, trip the reactor and perform
1-E-O0.

B. Correct. The crew should trip the reactor if FRZR level is not being controlled.
1-AP-28 is ellowed to be used cencurrently if necessary with 1-E-0.

A. Incorrect. A manuel trip is required in orcer to prevent an automatic trip, and EOPs
take precedence over APs.

C. Incorrect. 1-AP-28 cen be performed concurrently with 1-E-0 as resources permit.
D. Incorrect. (see A).

Ability to perferm specific system and integreted plant procedure during all modes of plant operation.

Question Number: 14

Tier 1 Group 1

Importance Rating: RO 3.9

Technical Reference: 1-AP-28

Proposed references to be provided o applicants during examination: None
Learning Chjective: OB 18877

Question Source: Bank

Question History: 3744

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Versiont: 0123456789
Answer: BCADBACCDD Scramble Range: A-D
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QUESTICNS REPCRT
for PCST NRC REVIEW R1

49. 069 AK1.01 001

Given the following conditions:
A lcss of Containment Integrity has occurred.

In eccordeance with the accident enelyses, which CNE of the following events would
result in the HIGHEST rate of Containment miass leakage to atmosphere?

A. DBA LOCA, Eeginning of Core Life, 100% power.
B. DEA LCCA, End of Ccre Life, 0% power.
C. Main Steam Breeak insice Containment, Beginning of Core Life, 100% power.

Cv Main Steam Breek inside Containment, End of Cere Life, 0% power.

D. Correct. Per TS 3.€.4 besis, limiting MSLE weuld be at EOL, with 0% power
resulting in additional mass from SG. DBA LOCA is credible because it is the other
analyzed accident and results in containment pressure increasing.

A, B, C ell incorrect (see D).

Kriowlecge of the operaticne! implications of the following concepts as they apply to the: Effect of pressure on leak
rate.

Question Number: 22
Tier 1 Group 2
Importence Rating: RO 2.6

Techricel Reference: TS 3.6.4.1 Basis

Proposed references to be provided to epplicants during examination:  None
Learriing Objective:

Questicn Source: New

Question History:

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41/43

Comments:

MCS  Time: 1 Points: 1.00 Versionn 0123456789
Answer: DDBCDDADAC Scramble Range: A-D

Moncay, November 06, 2006 11:25:27 AM 70




QUESTIONS REPCRT
for POST NRC REVIEW R1
50. 073 A1.01 001

reCiaticn monitor 1-GW-RI-178-3 incication spiked, ceusing an ALERT and HIGH
alarm to lock in.

Which CNE of the following cescribes the plant response?

A. CNLY the unit 1 vacuum pump will trip.

B. Ecth units’ vecuum pumps will trip, but discharge valves remain open.
Cy Both units’ vacuum pump cischerge valves will autematically close.

D. CNLY the unit 1 vecuum pump discharge velve will automatically close.

C. Ccrrect. Dischearge vealves for beth units vacuum pumps will close.

A. Inccrrect. Both units' vacuum pump cischerce valves will close and pumps will then
trip.

B. Incorrect. Discharge valves will close.

D. Incorrect. (see A)

ALility to precict and/or monilcr chenges in peremeters associated with opereting the (SYSTEM) contrals including:
Radiation levels.

Question Number: 45

Tier 2 Group 1

Importance Reting: RO 3.2

Technicel Reference: NCRCDP-4€-NA

Propesed references to be previded to epplicants during examination: None
Learning Objective: OB 17679

Questicn Source: Bank

Question History: 5164

Question Cognitive Level:  Lower
10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: CDBDCBCACB Scramble Range: A - D

Monday, November 06, 2006 11:25:27 AM 71



QUESTICNS REPCRT
for POST NRC REVIEW R1
51. 076 GG2.1.2 001

Given the following:

» Ecth units are operating at 100% power.
e The unit 2 Service Water pumps are running.
e A rupture cccurs on en expension joint on the “B” SW header in the Auxiliary

Building.
e The caontrol roem crew erite

ers 0-AP-12, Loss of Service Weater.
e Theunit 2 "B” SW pump trips &

nd the unit 1 “"A” pump CANNOT be Ctarted
Which ONE cf the foliowing describes the required action?

A. Enter action of T.8. 3.0.3 and commence & shutdown of Unit 1 ONLY within one
hour.

B. Startunit 1 "B” SW pump to restore flow to one header.
Cv Trip both reactors cue to no flow to an intact header.

D. Eveluate the need tc perferm an orderly shut down on both units.

C. Cerrect. Total Loss of SW with inability to regain will require tripping both units per

step 2 of AP.

A !nccrrcct This is the ecticn for cne loep incperable, but both loops are inoperable.
ncerrect. Do not start a SW purnp on a ruptured SW header.

D. !ncorrect. Crcerly shutdown is nct appropriate with no SW flow.

Kricwledge of cperator respensibilities curing all modes of plent operation.

Question Number: 46

Tier 2 Group 1

Importance Rating: RO 3.0

Technicel Reference: 0-AP-12; TS-3.7.8

Propeced references tc be provided to epplicants during examination:  None
Learning Objective: CB 19102

Question Source: Bank

Questicn History: 5901

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Versionn 0123456789
Answer: CDBAAACBCB Scramble Range: A-D

Mondey, November 06, 2006 11:25:27 AM 72



QUESTIONS REPORT
for POST NRC REVIEW R1

52. 076 K1.17 001

Which CNE of the following describes the operation of the Radiation Monitoring Pumps
on the Recircuiation Spray Heat Exchangers following a large-break LOCA?

A. Slaris immediately. Pump will stop when Phase B isclation is reset.

B. Starts immediately. Pump will only stop by resetting Phase B isolation and placing
the pump in STOP.

C. Steris efter 2 minutes. Pump will stop when Phase B isolation is reset.

Dv Staris efter 2 minutes. Pump will enly stop by resetting Phase B isolation and
placing the pump in STOP.

D. Cerrect. 1-EW-P-5, €, 7, & will automaticelly start 2 minutes after CIB. Once running,
it takes 2 actions to step (if running due to auto actuation).

A and B are incoirect becezuse the pump dees not start immediately.

A and C ere incorrect because the pump must be placed in STOP.

Kriowledge of the physical connecticns and/or cause-eflect relationships between (SYSTEM) and the fellowing:
FRMS.

Question Number: 51

Tier 2 Group 1

Importance Rating: RO 3.6

Technical Referernice: NCRODP-46-NA

Prcpesed references to be previded to applicants curing examination: None
Learning Objective:

Question Source: New

Question History:
Question Cognitive Level:  Lower
10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: DABBADDCBD Scramble Range: A-D

Monday, November 06, 2006 11:25:27 AM 73




QUESTICNS REPCRT
for FOST NRC REVIEW R1
53. 078 GG2.1.28 001

Which CNE of the following cescribes the function of the Turbine Building Instrurent
Air Dryer Bypass Valve, 2-IA-TV-2117

A. Cpens ot €0 psig decrecsaing instrument air header pressire; eutometically closes
above S0 psig increasing instrument air header pressure.

By Cpens at €0 peig decreasing inctrument air header pressure; must be manuall
= €
reset to clese above €0 psig increcsing instrument air header pressure.

C. Cpe

at 80 psig decreceing instrument air header pressure; automatically cleses
above (.O S

sig increesing instrument air header pressure.

Ty 0

D. Crens &t 80 psig decrecsing instrument air heeder pressure; must be manually
recet to close chove €0 peig increasing instrument air header pressure.

B. Correct. Crver bypass will auto cpen at 60 psig end cecrezsing. Must be manually
reset to allow clesing valve.

A end C are incorrect because valve will not automaticelly close on increasing
pressure.

C &nd D are incorrect because the pressure setpoint is S0 psig.

istrectors are plavsible because they represent setpoints that are close to actual.
Also plausible that signal resets without manual action.
Knowledge of the purpese anc function of migjor system components and controls.

Questiocn Number: 47

Tier 2 Group 1

Importance Reting: RO 3.2

Technical Reference: NCRCDP-17-NA; 12050-P-lA-222

Prepesed references to be previded to epplicants during examination: None
Leamning Chjective: OB 18573

Question Scurce: New

Question History:

Guesticn Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:
Similar to bank questions
MCS Time: 1 Points: 1.00 Versiont: 0123456789

Answer: BDCBDCDCCC Scramble Range: A -D
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QUESTIONS REPORT
for POST NRC REVIEW R1
54. 078 K4.01 001

Given the following:

Service Air Compressor 1-SA-C-1 is in HAND.
Service Air Compressor 2-SA-C-1is in AUTO.

Which CNE of the fcllewing describes the cperation of each compressor in this
configuration?

£y 1-EA-C-1 will run unloaded as long as EA pressure remains above its unload
setpoint.

83

2-SA-C-1 will run unloaded es long as SA pressure remains above its unload
setpoint.

C. 1-EA-C-1 will Icad and unload at lower air pressure setpoints than 2-SA-C-1.

D. BECTH Eervice Air Comipressers will load and uriced &t the seme air pressure
setpoints.

A. Correct. in HAND, if the compressor is running unlcaced, it will remain running as
long as SA pressure is > the unload S/P.
B. Incorrect. In AUTO, if the compressor is running unlcaced for 15 minutes, it will shut
down.

. Inicorrect. The compressor in HAND lecads and unlcads &t higher SA pressure than
the compressor in AUTO.

D. Incorrect. (see C).
Knewledge of cesign feature(s) and or interlock{s) which prcvide for the {cliowing: Manual/automatic transfers of

control.

Question Number: 54
Tier 2 Group 1

Impertance Rating: RO 2.7

Technical Reference: NCRODP-17-NA

Prcpesed references to be provided to applicants during examination: None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS  Time: |1 Points: 1.00 Version: 0123456789
Answer: AADBDBDACB Scramble Range: A -D

Monday, November 06, 2006 11:25:27 AM 75



CUESTIONS REPORT
for PCST NRC REVIEW R1
55, o 6 32.1.28 001

hii ch ONE ¢f the fcllowing best describes the operation of the pre-action sprinkler
Lygaem fcr the Records Room vault?

A. Piping is elweys {ull of water requiring only sgrinkler head actuation based on
cetection of either heat or smcke.

B. Cprinkler head actuates when heot is detected, to cischarge compressed air,
ailewing water o flow through the system ageainst a lowering pressure.

C. Compresced &ir is bled cff when smcke is detected, allowing water to flow through
the system ageinst a lowering pressure.

Dy A stop velve cpers when smicke is cetected, and then the sprinkler head actuates if
exposed to heat.

D. Cerrect. Pre-Action re qv.re s cperation of @ stop valve prior to filling pipe, ensuring
that failure of a sprinkier head will not cause system actuation.

incorrect. Fiping ie not full of water and q:rmi« ler heads do not actuate on smoke.
B. Incorrect. Piping is not full of compressed air and weter will not flow unless smoke is
detected.
C. Inccrrect. Piping is not full of compressed eir.

Distracters are credible because they all represent cperation or partial operation of
cther fire protection systems

Knowiedge of the purpcse and function of mejor system components and controls.

Question Number: 61

Tier 2 Group 2

Importance Rating: RO 3.2

Technical Reference: NCRODP-6-NA

Proposed references to be provicded to applicants during examination:  None
Learning Objective:

Question Source: Bank
Question History:
Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:
Modified distractors significantly, but editorial in nature
MCS  Time: 1 Points: 1.00 Version: 0123456789

Answer: DADBCACCCB Scramble Range: A - D

Monday, November 06, 2006 11:25:27 AM 76



QUESTIONS REPORT
for POST NRC REVIEW RA1
__ 56, m% K4.01 001

Which ONE of the fcllowing describes the operation of Centainment Vacuum pumps
JA and 3B?

A. Automaeticelly cperate to maintain Centainment Vecuum. A vacuum breaker
erisures comgmmcnt vacuum is not reduced below 5.5 psia

B. Autcernatically eperete to maintain Containment Vacuum. Vacuum breaker
protection is NOT provided.

C. Manuslly cperated to m?m"»m Centainment Vacuum. A vacuum brezker ensures
containment vecuum is not reduced below 5.5 psia

Dy Menuelly cpereted to maintain Containment Vacuum. Vacuum breeker protection
is NOT provided.

D. Correct. Pumps are manually operated to maintzin containment vacuum within
limits. Vecuum breaker protection is not required because it would take a vacuum
pump running for a significant pericd of time (weeks) to lower vacuum enough to cause
ceamege to containment. Multiple alarms exist to alert cperators to containment vacuum
below setpoint.

A and B ere incorrect because vacuum pumps are not run in automatic.

A and C are incorrect because there is no vacuum breeker to protect containment from

excessive vacuum.
Knowledge of (SYSTEM) design feature(s) and or interlock(s) which provide for the following: Vacuum breaker

protection.
Question Number: 48
Tier 2 Group 1

Importance Rating: RO 3.0

Technical Reference: NCRODP-57-NA

Proposed references to be provided to applicants during examination:  None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: DDDDADBDBD Scramble Range: A - D
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QUESTICNS REPORT
for POST NRC REVIEW R1
57. E03 EA2.1 002

Given the following conditions:

* A LOCA has occurred
» The crew is perfcrming 1-E-1, Less of Reactor or Secondeary Coolant
* The following parameters exist:

! « All EG pressures — 830 psig and slowly trending down
* Al EG levels — being controlled at 42% NR

* PRZR level — off-scale high

* RVLIS Full Range indicates 20%

» Conteinment Pressure — 23 psia

* RWET level — 74% and decreasing slowly

* RCS pressure — €00 psig and decreesing slowly

Based on these incications, which ONE of the following procedures will the crew enter
next?

A. 1-ES-1.1, Sl Termination
By 1-ES-1.2, Post-LOCA Cooldown and Depressurization

C. 1-ES-1.3, Transfer to Cold Leg Recirculation

D. 1-E-2, Faulted Steam Generator Isolation

B-Correct. RCS Pressure not stable, and low RCS inventory (low reactor vessel level
and high PRZR level indicates a large head bubble).

A-Incorrect. (see B)
C-Incorrect. RCS pressure and RWST level are high. Entry to ES-1.3 on low RWST

level.
D-Incorrect. SG pressures are trending down because RCS temperature is trending

down.

Monday, November 06, 2006 11:25:27 AM 78



GUESTICNS REPORT
for POST NRC REVIEW R1

ALility 1o determine end interpret the following es they apply to: Facilily concitions and selection of eppropriate
procecures during ebnormal end emergency operations.

Question Number: 24

Tier 1 Group 2

Impoertance Rating: RO 3.4

Technical Reference: 1-E-1

Propeced references to be provided to epplicants during examination: None
Learning Objective:

Question Source: Bank
Question History: WTSEI Bank (Harris 2005 Audit)
Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41/43

Comments:

MCS  Time: 1 Points: 1.00 Versionn 0123456789
Answer: BBDADDBBCB Scramble Range: A - D

Monday, November 06, 2006 11:25:27 AM
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QUESTIONS REPORT
for POST NRC REVIEW R1
58. F04 EK3.4 001

Given the following conditions:

« A LOCA cutside containment has occurred.
* The crew is periorming the actions in 1-ECA-1.2, LOCA Outside Containment.

Which ONE of the following actions will be attempted to isolate the break and which
indication is used to cdeterming if the leak has been iscleted in accordance with
1-ECA-1.27

Av Isclate Low Head Safety Injection piping; RCS pressure is monitored, because Sl
flow will repressurize the RCS with the break isolated.

B. Isolate Low Head Safety Injection piping; PRZR level is monitored, because with
the breek isclated, RCS inventory will rapidly rise.

C. lsclate High Head Safety Injecticn piping; RCS pressure is monitored, because Sl
flow will repressurize the RCS with the break isclated.

D. Iscolate High Head Safety Injection piping; PRZR level is monitored, because with
the breek isolated, RCS inventory will rapidly rise.

A-Correct. Per 1-ECA-1.2, monitor RCS pressure. The design basis LOCA outside
containment is on the LHSI piping, not HHSI piping.

B and D are incorrect because RCS inventory will increase, but may not immedaitely
show up on PRZR level.

C and D are incorrect because the design basis LOCA ocutside containment is on LHSI
piping

Kricwledge of the reasons for the following responses as they apply to: RC or SRO function within the control room
team as eppropriate to the assigned position, in such a way that procedures are adhered to and the limitations in the
facilities license and amendments are not violated.

Question Number: 15
Tier 1 Group 1
Importance Rating: RO 3.6

Technical Reference: 1-ECA-1.2

Proposed references to be provided to applicants during examination:  None
Learning Objective:

Question Source: Bank

Question History: Hearris 2005 NRC (Editorially Modified)

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Versionn. 0123456789
Answer: ADACCCDDBA Scramble Range: A -D
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QUESTIONS REPCRT
for POST NRC REVIEW R1

59. E05 EK1.3 001
A reactor trip has occurred due to a loss of all feedwater.

The following conditions exist:

The crew has entered 1-FR-H.1, Response To Loss of Secondary Heat Sink.
SG levels are 38% wide range and slowly trending down.

RCS pressure is 2040 psig and lowering.

SG pressure is 1040 psig and lowering.

Annunciators AUX FD PP 3A-3B AUTO TRIP and TUREINE DRIVEN AFW
PUMP TROUELE OR LUBE OIL TRBL are both lit.

Which CNE of the following is performed NEXT?

Ay¥ Stop RCPs and attempt to initiate main feedwater flow.

B. Stop RCPs and establish bleed and feed cooling of the RCS.

C. Return to 1-E-1, Lecss Of Reactor Or Seconcary Coolant, for the LOCA in progress.

D. Depressurize SCGs and initiate feed using the condensate pumps.

A. Correct. These are the next actions per 1-FR-H.1.

B. Incorrect. Eleed and feed is only required if SG WR level is less than 14% (32%
adverse).

C. Incecrrect. No LOCA indicated. RCS pressure is greater than SG pressures.

D. Incorrect. Action may be taken if AFW cannot be restarted and MFW cannot be
started.
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QUESTIONS REPORT
for POST NRC REVIEW R1

Knewledge of the operational implications of the following concepts @s they apply to the: Annunciators and
conditions indicating signals, and remedial actions associated with the Loss of Secondary Heat Sink.

Question Number: 18
Tier 1 Group 1
Importance Rating: RO 3.9

Technical Reference: 1-FR-H.1, 1-AR-F-D8, 1-AR-F-C5

Propeeed references to be provided {o applicants during examination:  None
Learning Objective:

Question Source: Bank

Question History: BVPS-2 2002 NRC

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: ABABCDABBB Scramble Range: A - D

Monday, November 06, 2006 11:25:28 AM
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QUESTIONS REPORT
for POST NRC REVIEW R1
1. E06 EK3.1 004
Which ONE of the following describes the parameter and the reason that a RED
condition on the Integrity CSF status tree may develop while performing actions of
1-FR-C.2, Response to Degraded Core Cooling?

A. Core exit thermocouple temperature will decrease rapidly when charging or LHSI
pumps are started and Sl flow is initiated.

B. Core exit thermocouple temperature will decrease rapidly when SG
depressurization and S| accumulator injection occur.

C. RCS cold leg temperature will decrease rapidly when charging or LHSI pumps are
started and Sl flow is initiated.

D¥ RCS cold leg temperature will decrease rapidly when SG depressurization and Sl
accumulator injection occur.

D. Correct. SG depressurization will cause T cold to rapidly decrease. NOTE in FR-C.2
warns of RED condition on Integrity.

A. Incorrect. CETCs will decrease when Sl is started, but CETCs do not input to the
Integrity CSF status tree.

B. Incorrect. Condition will exist, but CETCs do not input to the Integrity CSF status
tree. '

C. Incorrect. Starting charging or LHSI would raise inventory and cause transition to
procedure in effect. It will not cause a cooldown that will result in the Integrity CSF
status tree RED path.

Knowledge of the reasons for the following responses as they apply to: Facility operating characteristics during
transient conditions, including coolant chemistry and the effects of temperature, pressure and reactivity changes and

operating limitations and reasons for these operating characteristics.
Question Number: 27

Tier 1 Group 2

Importance Rating: RO 3.4

Technical Reference: 1-FR-C.2

Proposed references to be provided to applicants during examination:  None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS Time: 1 Points: 1.00 Version: 0123456789
Answer: DDDDCADBCB Scramble Range: A - D

Monday, November 06, 2006 2:35:05 PM - 1




QUESTIONS REPORT
for POST NRC REVIEW R1
61. E09 EA1.3 002
Given the following conditions: |

A reactor trip has cccurred due to a loss of offsite power.

The crew is periorming actions of 1-ES-0.2A, Netural Circulation Cocldown with
CRDM Fans.

RVLIS is NOT available.

The crew has commenced RCS cceldown and depressurization.

The following conditions are indicated:
RCS pressure is 2030 psig and trending DOWN.
RCS Tevg is 547°F and trending DOWN slowly.
PRZR Level is 26% and stable.

Which CNE of the fcllowing actions is required?

Ay Ceniinue depressurization to 1650 psig end block the Low PRZR Pressure Sl
inputs.

B. Initiate Safety Injection and go to 1-E-0, Reactor Trip Or Safety Injection.

C. Stop the ccaldown and cepressurization, block the Lew PRZR Pressure Slinputs,
and resume cocidown and depressurization.

D. Stop the depressurizetion and go to 1-E8-0.4, Natural Circulation Cooldown With
Steam Void In Vessel (Without RVLIS)

A. Ccrrect. Fer the stated concitions, the next acticon is to depressurize and block Low
PRZR pressure Sl.

B. Incorrect. Sl actuation criteria are not met.

C. Incorrect. RCS must be depressurized to 1850 psig prior to blocking Low PRZR Sl
inputs.

D. Incorrect. Inciceations of veicing, or conditions that may cause voiding, do not exist.
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QUESTICNS REPORT
for PFOST NRC REVIEW R1

~Lility 1o operete end/or monitor the following as they epply to @ Desired cperating results during abnormal and
emergency situations.

Question Number: 25

Tier 1 Group 2

Importence Rating: RO 3.5

Technical Reference: 1-ES-0.2A

Propceed references te be provided to epplicents during examination:  Ncne
Learning Objective:

Question Source: Bank

Question History: WTSEI Bank (Harris Audit Exam)

Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Commenits:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: ADBADCDBBD Scramble Range: A -D

Moncay, November 06, 2006 11:25:28 AM
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QUESTICNS REFORT
for POST NRC REVIEW R1
62. E10 EK2.2 001
Given the following:

* The reactor wes tripped due to a less of ell Component Cooling Water.
e The crew is performing the actions of 1-£ES-0.4, Natural Circulation Cooldown
with Steam Void in Vessel (without RVLIS)
The following conditions currently exist:

¢ RCS pressure is 1600 psig
» RCS temperature is 450°F

vhich ONE of the follewing describes the reascon for equalizing charging and letdown
flows during the sukbsequent depressurization?

Ay Allows pressurizer level to be used to monitor void growth.

B. Chearging and letdown flows by themselves ere the only true measure of RCS
inventory &t this point in the procedure.

C. Ensures that steble conditions are established to ensure that the pressurizer coes
not go solid.

D. Ensures prescurizer heaters will remain energized and available to collapse any
voids that may be present.

|

A. Carrect. Equalizing Charging end letcown will aliow the crew to determine that RCS
inventory is niot changing. Without RVLIS, the only way toc determine if the void is
growing is to determine if PRZR level is changing. The FRZR may indicate 100% due
to void growtih, but the cize of the void is measured by the amount of level increase if
cherging and letdown is equal.

B. Incorrect. Matched chearging and letdoewn flows must be used in conjunction with
PRZR level to guage RCS inventory.

C. Incorrect. PRZR going solid is not & concern, since a head bubble will exist and RCS
overpressurization will not occur.

D. Keeping FRZR heaters covered is not the goal of matching charging and letdown
flows.
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QUESTIONS REPORT
for PCST NRC REVIEW R1

Krewledge ¢f the interrelations between (Emergency Plant Evcluticn) end the following: Facility’s heat removal
systems, including primary ccolent, emercency coclent, the cecay heat removel systems and relations between the
proper operation cf these systems to the operation of the facility.

Question Number: 26

Tier 1 Group 2

Importence Rating: RO 3.6

Technical Reference: 1-ES-0.4

Propecsed references to be previcded to applicants during examination:  None
Learning Objective:

Question Source: Bank
Question History: Wolf Creek (2006 Audit)
Questicn Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: ADACBDDEBEDA Scramble Range: A-D

Monday, November 06, 2006 11:25:28 AM 87



GUESTICONS REPORT -
for POST NRC REVIEW R1
€3. E11 EK2.1 001

Given the following conditions:

* ALOCA has occurred. \

*  Due to multiple equipment failures, the crew is performing actions of 1-ECA-1.1,
Less Cf Emergency Coclant Recirculation.

* Two cherging pumps and two LHEI pumps are running.

* RWET level is epproximetely 3% and continues to lower.

Which CNE cf the fclloewing describes the NEXT actions required in accordance with
1-ECA-1.17

A. Step BOTH Quench Spray pumps, ONE cherging pump and ONE LHSI pump and
verify NO backflew from the RWST to containment sump.

B. Stcp BOTH CQuench Sprey pumps, ONE charging pump and CNE LHEI pump and
initiele secondery depressurization to fecilitate SI accumulator injection.

C. Stop ALL pumps teking e suction frcm the RWST and verify NO backflow from the
RWST to containment sump.

Dv Stop ALL pumps teking e suction from the RWST and initiate secondary
cepressurizetion to facilitete SI accumulator injection.

Incorrect. RWST level is too low to leave any pumps running.

Incorrect. RWET level is too low te leave any pumps running.

Incorrect. Correct ection for pumps, but instead of being concerned with backflow,
the crew must initiate depressurization.

D. Correct. RWET level at 3% requires immecdiately stopping all pumps teking suction
from the RWST.

oo >
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GUESTIONS REPORT
for POST NRC REVIEW R1

Knewlecce of the interrelations between (Emergency Plant Evclution) end the following: Components and functions
of coritrel end sefely systems, including instrumentetion, signals, interlocks, feilure modes and automatic and
manual fealures.

Questicn Number: 16

Tier 1 Group 1

Importence Reting: RO 3.6

Technical Reference: ECA-1.1

Propceed references to be provided to applicants during examingtion:  None
Learning Objective:

Question Source: Bank

Question History: BVPS-2 2005 NRC

Question Cegnitive Level:  Higher
10 CFR Part 55 Content: 41

Comments:

MCS  Time: | Points: 1.00 Versionn 0123456789
Answer: DBBABAAAAD Scramble Range: A-D

Monday, November 06, 2006 11:25:28 AM 89
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QUESTIONS REPORT
for POST NRC REVIEW R1
F12 EK2.1 001

Given the following conditions:

-1-ECA-2.1, Uncontrelied Depressurization of All Steam Generators is being
perfcrmed.

-The crew has reduced AFW fiow to all steem generators (SG) to minimum as they

continue eltempts to isclate the SGs.

Which CNE of the fclicwing describes the expected plant response to the AFW flow
recucticn and what actions are to be teken as SC pressures decrease?

A. RCS hot leg temperatures will eventually becin to increase due to recuction of SG
invenitery and the crew will then transition to 1-£8-1.1, Safety Injection Termination.

By RCS hct leg temperatures will eventually begin to increase due to reduction in SG
inventery end the crew will then increase AFW flow while continuing in 1-ECA-2.1,
Uncontrolled Depressurization of All Steam Generetors.

'._/

o

The ECs will eventually become completely cepressurized due to inadequate
secondery heat eink and the crew will then transition to 1-E-2, Faulted Steam
Generator Isolation.

D. The SGs will eventually become completely depressurized due to inadequate
secondary heat sink and the crew will then transition to 1-ES-1.1, Safety Injection
Termination.

B. Correct. When AFW flow is reduced, eventually het leg temperatures will rise when
SG inventery is depleted. The purpose of minimizing AFW flow is to minimize RCS
cocldown and inventory loss.

A. Incorrect. 1-ECA-2.1 must be performed to completion unless a SG is isolated or
tubes rupture.

C. Incorrect. The SCGs cepressurize as long as they are faulted, but transition to 1-E-2
is only performed when 1 SG repressurizes.

D. Incorrect. (see A).
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QUESTIOMS REPCRT
for POST NRC REVIEW R1

Krcowdedce of the interrelations between (Emercency Flent Evclution) end the fcllewing: Components end funclions
cfconircl end celety eyeferns, including instrumentation, sicnals, intericeks, {ailure modes end avtometic and
meanuel features.

Question Number: 17

Tier 1 Group 1

Importence Rating: RO 34
Technical Reference: 1-ECA-2.1
Proepeeed references to be proviced to epplicents curing examination: None
Learning Objective:

Question Source: Bank

Question History: Harris 2003 NRC
CQuestion Cognitive Level:  Higher

10 CFR Part £5 Content: 41

Comments:

MCS  Time: |1 Pomts: - 1.00 Versiont 01234567809
Answer: BDDABCABDD Scramble Range: A-D

Monday, November 06, 2006 11:25:28 AM 91



QUESTICNS REPORT
for POST NRC REVIEW R1
65, F15EG2.1.23 001

1 Given the following conditions:
‘ -A LOCA has occurred.
-RCS pressure is 220 psig.
-Centeinment pressure peaked at 41 psia.
-Conteinment Pressure is 26 psia and lowering slowly.
-All autometic actuations have occurred as required.
-The crew is ebout to transition from 1-E-0, Reactor Trip or Sefety Injection.
-Due to an CRANGE condition on the Cenieinment CEF Status Tree, the US has
cetermined that transition to FR-Z.2, Response to High Containment Sump Level is
required.

Which ONE of the following describes the likely scurces of leakage that may recquire
action to isolate?

A. Cemponent Cooling Water
By Service Water

C. Primary Grade Water

D. Chilled Water

B. Correct. Service Water will be flowing to the RS Heat Exchangers.

A, C, and D are all incorrect because CCW, Chilled Water and PG are all isolated by
either CIA and/or CIB actuations.

Ability to perform specific system and integreted plant procedures during all modes of plant operation.

Question Number: 23

Tier 1 Group 2

Importance Rating: RO 3.9
Technicel Reference: 1-FR-Z.2

Propcsed references to be provided te applicants during examination:  None
Learning Cbjective:

Question Source: New
Question History:
Question Cognitive Level:  Higher

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: BACAAAAACB Scramble Range: A - D
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QUESTICNS REPCRT
for PCST NRC REVIEW R1
€6. G2.1.1 001 o
Velve fineurs ere in & ‘u recs to support unit stariup. The valve lineup being worked
specifies that & velve should be "locked 2 turns cpen."

Which ONE cf the fellewing correctly describes the process for initielly checking, and
for independently verifying the valve's position?

Ay The velve chould ke fully clesed, then re- crer.(*d 2 turns with a simultaneous
verifier chbeerving end cencurring that the valve is cpened 2 turns, then the lock
should be instelled.

The indepencent verifier shouid verify the lock is properly installed on the correct
valve.

B. The e should be fully clesed, then re-cpened 2 turns, then the lock should be
ins tc.ted No SV is required.
The independent verifier should visuelly verify velve pesition and check that the lock
is properly installed.

C. The valve csheuld ke fully clcsed, then re-cpened 2 turns with a simultanecus
verifier cbserving end concurring that the vealve is opened 2 turns, then the lock
should be installed.

The independent verifier should remcve the lock end fully close the valve, then
re-open the velve 2 turns and install the lock.

D. The velve should be fully clcsed, then re-opened 2 turns with a simultanecus
verifier cbserving and concurring that the valve is cpened 2 turns.
The independent verifier should visuelly verify valve position and install the lock.

A. Carrect. The velve weuld be simulteneously verified when it was positioned since an
CP-1A wes being performed (could not ke sure of valve's initial position). The [V'er
would verify that & lock was instelled on the correct velve and that it was properly
locked (plant OE where a lock was found to be improperly locked).

B. Incorrect. The velve would need to be simultanieously verified when it was
positioned. The IV'er would be unable to determine whether the valve was in the
correct peeition. This is the way a locked clesed or locked open valve would be
positioned and verified.

C. Incorrect. There still needs to be independent verification that the lock is installed
correctly on the velve.

D. Incorrect. This would encsure the valve was placed in the correct position; however,
without the lock being initially instelled, there would be no guarantee thet it was still
positioned correctly when the 1V'er arrived.
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CGUESTIONS REPORT
for POST NRC REVIEW R1

Krnicewlecge of conduct of operations requirements.
Question Number: €8

Tier 3 Group 1

Importence Reting: RO 3.7

Technical Reference: CPAP-£012

Fropesed references to be provided to epplicants curing examination:
Learning Objective: 13611

Question Source: Bank

Question History: North Anna 2004 NRC

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

Conduct of Operations
Krowledge of conduct of operations requirements

" North Anna bank question 60113

References:
OPAP-0012

None

Chijective 12611 in study guice for Administrative procedures (Not included as is

parrots OPAP-0012)
MCS  Time: 1 Points: 1.00 Version: 0123456789

Answer: ACCBDAABCD Scramble Range: A - D

Monday, November 06, 2006 11:25:28 AM

94



QUESTICNS REPCRT
for POET NRC REVIEW R1

67. G2.1.22 001
; RCS temperature is currently steble «t SE5° F. Reted thermal power is <6% and Keff is
<0.99.

Which CNE of the fcllewing is the correct cperaticneal moce for the given condition?
A. Mode 5
B. Moce 4
Cy Mode 3

D. Mode 2

Inccirect. Meode 5 is defined as < Z00°F.

Incorrect. Mode 4 is defined as > 200°F but < 350°F
Correct. Mcde 3 is cefined as > 350°F.

Incorrect. Mode 2 is defined as < 5% power.

Ability to determine Mode of Operation.
Question Number: 67

Tier 3 Group 1

Importence Rating: RO 2.8

Technical Reference: TS Teble 1.1-1

Propesed references to be provided tc applicants during examination:  None
Learning Objective:

Question Scurce: MODIFIED

Questicn History: MOD From 2004 NRC Exam

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: CDDDAAABCC Scramble Range: A-D
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QUESTICNS REPCRT
for FOST NRC REVIEW R1
68. G2.1.3 001

Pased on the requirements of CPAP-0005, "Ehift Relief end Turnover," which of the
following is required?

A. All OATC eclivities in pregress prior to turnover must be suspended for the duration
of the break.

By Your relief may NGT have any cther concurrent cuties while at the controls.
C. You must complete a shift turnover checklist.

D. BOTH unit SROs must be informed of the turnover.

B. Correct. For rest recom and mieal breeks, shiort-term relief is ell that is required. No
cther duties allowed

A. Inceorrect. There is no requirement to stop all aclivities, only to ensure the unit is
stable prior to turncver.

C. Incerrect. No checklist required for short term relief.

D. Incorrect. Cnly the responsible SRO is required to be notified

Knowledge of shift turnover practices.

Question Number: €6

Tier 3 Group 1

Imporiance Rating: RO 3.0
Technical Reference: OPAP-0005

Prepesed references to be provided to applicants during examination:  None
Learning Objective:

Question Source: New
Question History:
Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 01234567809
Answerr BABBCDADBC Scramble Range: A - D
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GUESTICNS REPORT
for POST NRC REVIEW R1
~ 69.G2.2.11 001

In accordance with VPAP-1403, Temporary Mcdifications, which ONE of the foilowing
conditions must be controlled es a Prccedurelly Contralled Temporary Modification?

A¥ Flugs instelled in floor drains in the New Fuel Receiving area.
| B. Pcrteble HVAC unit installec in Warehouse #5 fire pump house.
‘ C. Tempcrary lead shieiding packeage instelled per applicable VPAP.

D. Hcse connected to 2-CD-289, CD circ pumps dischearge drain valve, for CD system
blowdown.

A. Correct. Per VPAP-1403, this requires a PCTM.
B, C, and D ere &all incorrect. The stated concitions are all excluded from being
controlled as TMs per VPAP-1403.

Kncwiedge of the process for contrelling temporary changes.
Question Number: €9

Tier 3 Group 2

Importance Rating: RO 2.5

Technical Reference: VPAP-1403

Proposed references te be provided to epplicants during examination:  None.
Learning Objective:

Question Source: New
Question History:
Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: AACABBCCCB Scramble Range: A-D
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GUESTICNMNS REPORT
for POST NRC REVIEW R1
70. G2.2.24 001

Which CNE cf the fcllowing ectivities requires entry into a technical specification LCO
ting action statement? Assume both units at 100% power.

A. 1-CC-P-1B ccal repair with the remeining CCW subsystems operable
B. Breeker PMs on PRZR beckup heeter group 5 supply breaker
Cy Ceeing cocling tenk level treansmitter loop celibration per ICP

D. Boeron injecticn tank recirculation local flow indicator leak repeir

C. Correct. Per 1-1CP-RE-L-103A and TE-3.6.7, performance of LT loop calibration
rencers the cscociated train of Containment Recirculation Spray inoperable.

A. Inccrrect. Per TS-3.7.19, with either unit in Mcde 1 - 4, a single CC subsystem can
be remcved from cervice without entering the TS acticn (TS-3.7.19 only requires three
cut of four CC subsystems to be coperabie). Plausitle if candicate believes &ll four CC
subsystems must be cperable.

B. Incorrect. Per TE-5.4.8, with unit in mede 1 - 3, two groups of PRZR heaters must be
cperable and cepeable of being powered from emergency bus. Backup heater group 5 is
powered from &S bus. Plausible is candidete believes greup 5 is powered from
emergency bus.

D. Incorrect. Per SR-3.5.6.2, with unit in mode 1 - 3, BIT volume must be verified in
spec every 7 deys. The BIT recirc flow indicator is used to satisfy this surveillance. If
the flow indicater is remoeved from service for leak repair, the curveillance is satisfied by
cpening a vent on top of the EIT. This dees not render the BIT inoperable. Plausible if
cancicdete misuncerstands the definition of a limiting action.

~bility to anelyze the effect of maintenance activities on LCO status.

Question Number: 70
Tier 3 Group 2

Importance Rating: RO 2.6

Technicel Reference: 1-ICP-RE-L-103A; TE-3.7.19; TS-3.4.9; TS-3.5.6; FRZR Control &
Prctection Self-Study Guide, p. 20

Proposed references to be provided to epplicents curing examination: None

Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41

Comments:

MCS Time: 1 Points: 1.00 Version: 0123456789
Answer: CCCCCDCCDA Scramble Range: A - D
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GQGUESTIONS REPORT
for FCST NRC REVIEW R1

- 71.G2.2.4001

Which ONE of the icllcwing identifies a difference between unit 1 and unit 27

A. Unit 1 trein "A” emercency lcads are normelly powered from “B” RSST;
Unit 2 train “A” emergency lceds are normiaily powered from “A” RSST.

B. Commen radiation monitors are powered from either unit 1 train “B” (1J1-1) or unit 2
train “A” (2ZH1-1).

Cv Unit 1 train "A” emergency loads are normally powered from “C” RSST;
Urit 2 train "A” emergency lcads are nermally pewered from “B” RSST.

D. Common radiction monitors are powered from either unit 1 train “A” (TH1-1) or unit
2 train “B” (2J1-1).

C. Correct. Unit-1 train A is supplied from "C" REET; unit-2 train "A" is supplied from
"B" RSST.

A. Incorrect. (see C).

E and D are incorrect. Commen Reaciation Moniters are powered from 1J1-1 and 2J1-1.
ALty to expiain the variations in control beard leyouts, systems, instrumentalion and procedural aclicns between
units at a facility.

Question Number: 71

Tier 3 Group 2

Impcrience Rating: RO 2.8

Technical Reference:

Propceed references to be provided to applicants during examination: None
Learning Cbjective:

Question Source: Bank

Question History:
Questicn Cognitive Level:  Lower
10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: CDABABBADC Scramble Range: A - D
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QUESTICONS REPCRT
for POST NRC REVIEW R1
72.G2.32001

Which ONE cf the following is NOT part of the ALARA plan for reducing dose during a |
unit refueling outage?

Av Using the cas strinper tc deges the primary during RCS coocldown.
g G e g &
B. Fully cperning one RCS loop bypass MOV during RCS cocldown.

C. Fully opening PRZR spray velves one &t a time &fter blocking Low PRZR Pressure
Slinputs.

D. Keeping RCPs running as long as pessible during RCS cocldown.

A. Ccrrect. The RCS is cdegassed to recuce hydrogen concentration to allow the loops
to be opened for maintenance.

B. Inccrrect. This is an ALARA practice to ailow cleanup of the inactive bypass lines.
This answer could be chosen if the examinee does nct realize that it is allowable to
cpen cne bypass MGV as long as the other two RCS lcops are operable.

C. Incorrect. This is an ALARA prectice to flush hot spots out of the spray lines.
cxaminee could chocee this answer if he/she does not reelize that a spray valve may
Le opened as long as RCP NFSH requirements and pressurizer cooldown limits are
monitored.

D. Incorrect. Keeping the RCPs running during cocldown keeps crud deposits from
forming in the icle loops causing hiot spots. An examinee could choose this answer if
he/she does not realize that hot spots can form in idle loops.

Kricwledge of facility ALARA program.

Question Number: 73

Tier 3 Group 3

Importance Rating: RO 2.5

Technical Reference: 1-CP-23.2, "Unit Shutdown from Mcde 3 to Mode 4.
Propesed references to be provided to epplicants cduring examination:  None
Learning Objective: 12958

Question Scurce: Bank

Questicn History: 2004 NRC Exam

Question Cognitive Level:  Lower
10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Versionn 0123456789
Answerr AAADCCAADA Scramble Range: A-D
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QUESTIONS REPORT
for PCST NRC REVIEW R1

~ 73.G2.3.9001

Given the following:
Unit 1 has just entered Mode 5.
A Containment Purge is being initiated per 1-CP-21.2, Containment Purge.
Containment Partial Pressure is ©.8 psia.
The crew is prepering to establish atmosgpheric conditions in Containment.

Which CNE of the fcllowing describes the methed that will be used to establish
atmospheric conditicns in Containment?

Ay Cpen 1-HV-MCV-102, CONT PURGE RELIEF VALVE
B. Cpen 1-MCV-HV-1CCA OR 1-MCV-HV-100B, CCNT PURGE SUPPLY VALVE
C. Cpen 1-MCV-HV-100A AND 1-MCOV-HV-100B, CONT PURGE SUPPLY VALVE

D. Cpen 1-MOV-HV-101, CONT PURGE EXH BYPASS VALVE

A. Correct. Relief Valve is used for raising containment pressure to atmospheric

B and C are incotrect. Qutside Purge Supply valve should not be opened because it
cculd cause a collepse of Purge system cuctwork, elthcugh the actions would result in
Cnmt pressure increase

D is incorrect. Vealve would be cpened when purge initiated if less than 11000 CFM.
Cpening the velve would cause containment pressure to rise.

Krnowledge of the process for performing a containment purge.

Question Number: 72

Tier 3 Group 3

Importance Rating: RO 2.5

Technical Reference: 1-OP-21.2

Preposed refererices to be provided to applicants during examination: None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Lower

10 CFR Part 55 Content: 41
Comments:

MCS  Time: |1 Points: 1.00 Version: 0123456789
Answer: ACCADBCAAA Scramble Range: A -D

Monday, November 06, 2006 11:25:28 AM 101




GQUESTICNS REPCRT
for POST NRC REVIEW R1

i Given the following conditions:

A LOCA has occurred.

‘A’ trein ECCS equipment is operating as reqguired.

] ‘B’ train is deenergized and ECCS equipment HAS NOT been started.

} The US hes anncunced transition to 1-E-1, Loss of Reactor or Secondary Coolant.
| Criticel S&fety Function Status Trees indicate the following:

‘ SUBCRITICALITY GREEN

‘ CORE COOLING, INTEGRITY, and CONTAINMENT OCRANGE

} HEAT SINK and INVENTORY YELLOW

Which GNE of the fcllewing acticns shall be teken?

‘ A. Transition to 1-FR—C;1, Response to Inadequate Core Cooling.
By Transition to 1-FR-C.2, Respense to Degraded Core Cooling.

C. Trensition to 1-FR-Z.1, Response toc High Containment Pressure.

D. Attempt to restcre power to Train ‘B’ equipment in 1-E-1, then transition to the
highest priority procedure if conditions cannot be cleared.

Crange condition on Core Cocling requires transition to FR-C.2. A is incorrect but
crecible because some CSF status trees reqguire entry to top level procedures for red or
crange conditions. Cis credible because FR-Z.1 would be entered on orange
conditicn, and criteria is met. D is incorrect because the ection would have been taken
in 1-E-0, notin E-1. Cnce monitoring is in progress, ¢o directly to the highest level FR
procedure with condition met.
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QUESTIONS REPCRT
for POST NRC REVIEW R1

Knowledge of general guidelines for ECP flowchart use.
Question Number: 74

Tier 3 Croup 4

Imporiance Rating: RO 3.0

Technicel Reference: EOP User's Guide, F-0.2

Preposed references tc be provided tc epplicaents curing exemination: None
Learning Cbjective:

Question Source: Eank
Questicn Histery: EVPS-2 NRC 2005
Question Cognitive Level: Higher

10 CFR Part £5 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answerr BCDACBEBCB Scramble Range: A-D

Morniday, November 06, 2006 11:25:28 AM 103



QUESTIONS REPCRT
v for POST NRC REVIEW R1
75. G2.4.43 001

A Notification of Unusual Event has been declared.

Which CNE of the folicwing describes the MINIMUM reguirement for notification or
communication with the NRC?

Notify the NRC within...
A. 15 minutes of event classification using the Emergency Nctification System phone.

B. 15 minutes cf event classification using a commercial phone line and Emergency
i Response Data System (ERDS) link.

C¥ 1 heur of event classification using the Emergency Notification System phone.

D. 1 hour of event classification using a commercial phone line and ERDS link.

C is correct. Commercial phones meay be used if ENS is not aveilable. ERDS is
activated for ALERT and &bove
Knowledge of emergency communications systems and techniques.

Question Number: 75

Tier 3 Group 4

importance Rating: RO 2.8

Technicel Reference: EPIP-2.02

Proposed references to be provided to epplicants curing examination:  None
Learning Objective:

Question Source: New

Question History:

Question Cognitive Level:  Lower
10 CFR Part 55 Content: 41

Comments:

MCS  Time: 1 Points: 1.00 Version: 0123456789
Answer: CEDCBBBCDD Scramble Range: A-D

Monday, November 06, 2006 11:25:28 AM 104



Final Submittal

(Blue Paper)

FINAL SAMPLE PLANS / OUTLINES



ES-401 PWR Examination Qutline Form ES-401 2
Fh{, -YZ/ _

[Facility:_North Anna _ _ Dateof Exar
Tier Group RO K/A Category Points SRO-Only Points
_1/ i K1| K2| K3| K4 |K5 | KE| A1| A2| A3| A4| G*| Total | K | A | A2 | G* |Total
-, 1 |3|3]|3 3|3 3| 18 .

Emergency

& 2 21111 2| 2 11 8
Abnorma

Plant Tier
Evoulution:|Totals | 5 | 4 | 4 515 4 27

2. |1 |3|3|3]2|2|3|3|2|3]2]|2]| 28

Pamt |2 [(1]0|1(2]|1]/0]0[1]0]2|2] 10
Systems | Tier

Totals| 4 | 3 |4 | 4| 3| 3|3 (3|3 /4|4 /| 38

3. Generic Knowledge and 1 3 112 |3 |4

Abilities Category

3 > 10

22 of 34

1. Ensure that at least two topics from every K/A category are sampled within each tier of the RO
outline (i.e., the "Tier Totals" in each K/A category shall not be less than two). Refer to Section
D.1.c for additional guidance regarding SRO sampling.
2. The point total for each group and tier in the proposed outline must match that specified in the
table. The final point total for each group and tier may deviate by +1 from that specified in the
table based on NRC revisions. The final RO exam must total 75 points and the SRO-only exam
must total 25 points.
3. Select topics from many systems and evolutions; avoid selecting more than two K/A topics from
a given system or evolution unless they relate to plant-specific priorities.
4. Systems/evolutions within each group are identified on the associated outline.
5. The shaded areas are not applicable to the category/tier.
6.* The generic (G) K/As in Tiers 1 and 2 shall be selected from Section 2 of the K/A Catalog, but
the topics must be relevant to the applicable evolution or system. The SRO K/As must also be
linked to 10 CFR 55.43 or an SRO-level leaming objective.
7. On the following pagss, enter the K/A numbers, a brief description of each topic, the topics'
importance ratings (IR) for the applicable license level, and the point totals for each system and
category. Enter the group and tier totals for each category in the table above; summarize all the
SRO-only knowledge and non-A2 ability categories in the columns labeled "K" and "A". Use
, duplicate pages for RO and SRO-only exams.
I3 8. For Tier 3, enter the K/A numbers, descriptions, importance ratings, and point totals on Form
! ES-401-3.
9. Refer to ES-401, Attachment 2, for guidance regarding the elimination of inappropriate K/A

NUREG-1021, Revision 9




Tier 1 Group 1

lame/Safety Function |K1]K2|K3{A1|A2|G KA Question Type K/A Topic(s) RO | SRO
Reactor Trip - 0 0| 0| 0] 1| O|007EAZ.05 Ability to determine and interpret the Reactor trip first-out indication 34 |39
3tabilization - following as they apply to (EMERGENCY
Recovery /1 ) PLANT EVOLUTION):(CFR: 41,10/435/
W 45.13)
Sressurizer Vapor 0] 0] 0l 1] 0| O|O0BAAT.02 Ability to operate and 7 or monitor the HPI pump to control PZR levelipressure | 4.1 | 3.9
Space Accident /3 . following as they apply to (ABNORMAL
e @ PLANT EVOLUTION):(CFR: 41.7/45.5 /
45.6)
Small Break LOCA/3 | 0] 0| 1] 0| 0| 0]009EK327 Knowledge of the reasons for the following |Manual depressurization or HPI 36 | 38
e responses as they apply to (EMERGENCY |recirculation for sustained high pressure
{\@ PLANT EVOLUTION):.(CFR: 41.5/41.10/
456/4513)
.arge Break LOCA/3 | 0| 0] Of 0{ 0] 0|011EK2.02 Knowledge of the interrelations between K/A Randomly Rejected 26 27
' (EMERGENCY PLANT EVOLUTION) and
the following:(CFR: 41.7 / 45.7 / 45.8)
ICP Malfunctions/4 | 0| 0| 0] 1| 0| O|015AAT.07 Ability o operate and / or monitor the RCP seal water injection subsystem 35 | 34
‘ W) following as they apply to (ABNORMAL
@" '/ PLANT EVOLUTION):(CFR: 41.7/455/
45.6)
“0ss of Rx Coolant 0| O 1| 0] 0| 0|022AK3.05 Knowledge of the reasons for the following |Need to avoid plant transients 32 34
dakeup / 2 i responses as they apply to (ABNORMAL
’5\ PLANT EVOLUTION):(CFR: 41.5/41.10/
/ 45.67/45.13)
Ossof RHR System/ | 0| 0] 0] 1| 0| 0|025AA1.19 Abiiity to operate and / or monitor the Block orifice bypass valve controllerand | 2.6 | 2.4
} oz5AAL 03  |following as they apply to (ABNORMAL indicators

’ )
5

PLANT EVOLUTION):(CFR: 41.7 / 45.5 /
45.6)

Anmnst 2 2NNA




Tier 1 Group 1

ame/Safety Function |K1|K2{K3]A1|A2|G KA Question Type K/A Topic(s) RO | SRO
oss of Component 0 O 0] O O} 0{026AK2 Knowiledge of the interrelations between K/A Randomly Rejected 0 0
‘ooling Water /8 (ABNORMAL PLANT EVOLUTION) and the

following:(CFR: 41.7 1 45,7 / 45.8)
fessurizer Pressure O 1] 0| 0] 0| 0|027AK2.03 Knowledge of the interrelations between | Controliers and posftioners 26 | 28
rontrol System P (ABNORMAL PLANT EVOLUTION) and the
talfunction /3 @/ following:(CFR: 41.7 / 45.7 / 45.8)
JWS /1 0 0] 0] O] O 1|029EG2222 |This is a Generic, no stem statement is Knowledge of limiting conditions for 34 4.1

A associated. operations and safety limits.
&
team Gen. Tube 0] o] O 0] 1| O|038EAZ.16 Ability to determine and interpret the Actions to be taken if S/G goes solid and | 4.2 46
lupture /3 following as they apply to (EMERGENCY  |water enters steam line
,fﬁf PLANT EVOLUTION):(CFR: 41.10/43.5/
J 45.13)

feam Line Rupture- | 0| 0] 0| 0] 0| 0|040AK2.02 Knowledge of the interrelafions between | K/A Randomly Rejected 26 | 26
xcessive Heat (ABNORMAL PLANT EVOLUTION) and the
‘ransfer/ 4 following:(CFR: 41.7 / 45.7 / 45.8)
oss of Main 0| 0| 0] O] O] O]054AA1.01 Ability to operate and / or monitor the K/A Randomly Rejected 45 4.4
‘'eedwater / 4 following as they apply to (ABNORMAL

PLANT EVOLUTION):(CFR: 41.7/455/

45.6)
fation Blackout /6 0| 0| O] 0| O| O|055EG2.1.27 |Thisis a Generic, no stem statementis K/A Randomly Rejected 28 28

associated.
oss of Off-site Power /| 1] 0] 0] 0| 0| 0]056AKT.03 Knowledge of the operational implications | Definition of subcooling: use of steam 31 | 34

£

.

C\o

of the following concepts as they apply to
the (ABNORMAL PLANT
EVOLUTION):(CFR: 41.8 t0 41.10/45.3)

tables to determine it

Anmed 2 ANNS




Tier 1 Group 1

ame/Safety Function|K1[K2|K3|A1|A2 KA N Question Type K/A Topic(s) RO | SRO
.0ss of Vital AC Inst. o] o| of of 1 057AA2.02 Ability to determine and Interpret the Core flood tank pressure and level 3.7 3.8
us /6 , following as they apply to ABNORMAL indicators
0574A 2,15 PLANT EVOLUTION):(CFR: 41.10/43.5/
45.13)
i
ossof DC Power/6 | 1] 0| 0| 0] 0] 0|058AKi.01 Knowledge of the operational implications | Battery charger equipment and 28 | 341
‘ of the following concepts as they apply to  |instrumentation
the (ABNORMAL PLANT
EVOLUTION):(CFR: 41.8t0 41.10/ 45.3)
.0ss of Nuclear Svc 0| 0] Oy O] O 062AG2.4.6 This is a Generic, no stem statement is Knowledge symptom based EOP 3.1 4
Nater/4 associated. mitigation strategies.
.oss of InstrumentAir/{ 0| 0f 0} 0] O 065AG2.1.23 |This Is a Generic, ho stem statement is Ability to perform specific system and 38 | 4
1 associated. integrated plant procedures during all
modes of plant operation.
DCA Outsids o[ 0f 1] 0] 0 WEG4EK3.4  |Knowladge of the reasons for the following |RO or SRO function within the control 36 | 3.8
Jontainment /3 responses as they applyto (EMERGENCY [room team as appropriate to the
PLANT EVOLUTION):(CFR: 41.5/41.10/ |assigned position, in such a way that
45.6/45.13) procedures are adhered to and the
limitations in the facllities license and
amendments are not violated.
.oss of Emergency of 11 0} 0] O WET1EKZ.1 Knowledge of the interrelations between Components and functions of control 36 39
Joolant Recirc. /4 (EMERGENCY PLANT EVOLUTION) and | and safety systems, including
‘ the following:(CFR: 41.7 /45.7 / 45.8) instrumentation, signals, interlocks,
failure modes and automatic and manual
features.
jfeam Line Rupture - o 11 6f 0] O WET2EK2.1 Knowledge of the interrelations between Components and functions of control 34 3.7

ixcessive Heat
‘ransfer / 4

(EMERGENCY PLANT EVOLUTION) and
the following:(CFR: 41.7 /457 / 45.8)

and safety systems, including
Instrumentation, signals, interlocks,
fallure modes and automatic and manual
features.

Anmnet ] 20NA



Tier 1 Group 1

ame/Safety Function|{K1{K2|K3{A1]A2|G KA Question Type K/A Topic(s) RO | SRO
nadequate Heat 1] 6} 0| 0| 0| O|WEOSEK1.3 |Knowledge of the operational implications | Annunciators and conditions indicating | 3.9 | 4.1
fransfer - Loss of of the following concepts as they applyto  |signals, and remedial actions associated

}econdary Heat Sink / the EMERGENCY PLANT with the (Loss of Secondary Heat Sink).

l EVOLUTION):(CFR: 41.8t0 41.10/45.3)

Anmnintd @ AANR



Tier 1 Group 2

Name / Safety Function

K1

KA

Question Type

K/A Topic(s)

SRO

continuous Rod Withdr

001AA1.06

Ability to operate and / or monitor the
following as they apply toc (ABNORMAL
PLANT EVOLUTION):(CFR: 41.7/455/
45.6)

K/A Randomly Rejected

29

Sropped Control Rod /

003AA2.04

Ability to determine and interpret the
following as they apply to ABNORMAL
PLANT EVOLUTION):(CFR: 41.10/43.5/
45.13)

Rod motion stops due to dropped rod

34

36

noperable/Stuck Contn

005AA2.01

Ability to determine and interpret the
following as they apply to ABNORMAL
PLANT EVOLUTION):.(CFR: 41.10/435/
45.13)

K/A Randomly Rejected

33

41

Emergency Boration / 1

024AK1.02

nowledge of the operational implications of
the following concepts as they apply to the
(ABNORMAL PLANT EVOLUTION):(CFR:
41.81041.,10/45.3)

K/A Randomly Rejected

3.6

3.9

2ressurizer Level Malfu

028AK1.01

Knowledge of the operational implications of
the following concepts as they apply to the
(ABNORMAL PLANT EVOLUTION):(CFR:
41.8t041.10/45.3)

K/A Randomly Rejected

2.8

3.1

.0ss of Source Range |

032AK2.01

Knowledge of the interrelations between
(ABNORMAL PLANT EVOLUTION) and the
following:(CFR: 41.7 / 45.7 / 45.8)

K/A Randomly Rejected

ar

3.1

.0ss of Intermediate Re

033AK1.01

Knowledge of the operational implications of
the following concepts as they apply to the
(ABNORMAL PLANT EVOLUTION):(CFR:
41.8t041.10/453)

K/A Randomly Rejected

2.7

~uel Handling £ it

\/"

036AA1.03

Ability to operate anc 1onitor the
following as they appr,. \ABNORMAL

Reactor building containment evacuation

alarm enable switch

Avimiiet J‘W:




Tier 1 Group 2

Jame / Safety Function

K1

K3

A1l

Question Type

K/A Topic(s)

RO

SRO

PLANT EVOLUTION):(CFR: 41.7/4557/
45.6)

fteam Generator Tube

037AA2.01

Ability to determine and interpret the
following as they apply to ABNORMAL
PLANT EVOLUTION):(CFR: 41.10/43.5/
45.13)

K/A Randomly Rejected

34

.0ss of Condenser Vac

051AA2.02

Ability to determine and interpret the
following as they apply to ABNORMAL
PLANT EVOLUTION):(CFR: 41.10/43.5/
45.13)

K/A Randomly Rejected

3.9

4.1

\ccidental Liquid RadW

0

059AK3.03

Knowledge of the reasons for the following
responses as they applyto  (ABNORMAL

PLANT EVOLUTION):(CFR: 41.5/41.10/
456 /45.13)

K/A Randomly Rejected

37

\ccidental Gaseous Ra

0

060AK1.04

Knowledge of the operational implications of
the following concepts as they apply to the
(ABNORMAL PLANT EVOLUTION):(CFR:
41.81t041.10/45.3)

K/A Randomly Rejected

2.5

37

{RM System Alarms / 7

0

061AK1.01

Knowledge of the operational implications of
the following concepts as they apply to the
(ABNORMAL PLANT EVOLUTION):(CFR:
41.81t041.10/45.3)

Detector limitations

25

29

Ylant Fire On-site /9 8

067AK3.04

Knowledge of the reasons for the following
responses as they apply to (ABNORMAL
PLANT EVOLUTION):(CFR: 41.5/41.10/
45.6/45.13)

K/A Randomly Rejected

3.3

4.1

sontrol Room Eva2./8

e

068AK1

Knowledge of the oper=fional implications of
the following concep? 10y apply to the
(ABNORMAL PLANT . JLUTION):(CFR:

K/A Randomly Rejected

Avivmermd J

ARAS



Tier 1 Group 2

iame / Safety Function |K1|K2|K3|A1|A2|G KA Question Type K/A Topic(s) RO {SRO
41.81041.10/45.3)

0ss of CTMT Integrity.| 1] 0| 0| 0] 0| 0]068AKT.01 Knowledge of the operational implications of |Effect of pressure on leak rate 26 [31
the following concepts as they apply to the
(ABNORMAL PLANT EVOLUTION):(CFR:
41.81041.10/45.3)

nad. Core Cooling/4 | 0| O 0| O| O| O|074EK3.10 Knowledge of the reasons for the following | K/A Randomly Rejected 3.0 |38
responses as they apply to (EMERGENCY
PLANT EVOLUTION):(CFR: 41.5/41.10/
456/45.13)

Jigh Reactor CoolantA| 0| 0| 0| 0| 0| 0|076AA1.04 Abililty to operate and / or monitor the K/A Randomly Rejected 32 |34
following as they apply to (ABNORMAL
PLANT EVOLUTION):(CFR: 41.7 /455 /
45.6)

ediagnosis / 3 0| 0] O] Of O] O|WED1EG2.2.2% |This is a Generic, no stem statement is K/A Randomly Rejected 34 |41
associated.

Steam Generator Over-| 0] 0| 0| 0] O O|WE13EK2.1 Knowledge of the interrelations between K/A Randomly Rejected 3.0 |31
(EMERGENCY PLANT EVOLUTION) and
the following:(CFR: 41.7 / 45.7 / 45.8)

Sontainment Flooding /| 0| 0| 0] 0| 0| 1|WE15EG2.1.37 [Thisis a Generic, no stem statement is Ability to recognize indications for system | 3.4 |4
associated. operating parameters which are

entry-level conditions for technical
specifications.

Tigh Containment Radi| 0| 0| 0| 0| 0| 0| WE16EA2.2 Ability to determine and interpret the K/A Randomly Rejected 30 |33
following as they apply to (EMERGENCY
PLANT EVOLUTION):(CFR: 41.10/435/
45.13)

T Termination/v.. | 0] 0| 0| 0| 0| O|WEO2EK2.1 |Knowledge of the inte.___.tions between K/A Randomly Rejected V39

Avirmtint Jh.’iﬁé_—_




Tier 1 Group 2

tlame / Safety Function | K1 K3|A1{A2|G KA Question Type K/A Topic(s) RO [SRO
(EMERGENCY PLANT EVOLUTION) and
the following:(CFR: 41.7 / 45.7 / 45.8)
OCA Cooldown - Depi| 0 0| Of 1| O|WEO3EA2.1 Ability to determine and interpret the Facility conditions and selection of 34 |42
following as they apply to (EMERGENCY appropriate procedures during abnormal
PLANT EVOLUTION):(CFR:41.10/43.5/ |and emergency operations.
45.13)
iatural Circ. / 4 0 0| 1| 0| O|WEOSEA1.3 Ability to operate and / or monitor the Desired operating resulfs during abnormal | 3.5 |3.8
following as they apply to (EMERGENCY and emergency situations.
PLANT EVOLUTION):(CFR: 41.7 /455 /
45.6)
latural Circ. With Sean| 0 0 0|WET0EKZ2.2 |Knowledge of the interrelations between Facility's heat removal systems, including | 3.6 |3.0
(EMERGENCY PLANT EVOLUTION) and | primary coolant, emergency coolant, the
the following:(CFR: 41.7 / 45.7 / 45.8) decay heat removal systems and relations
between the proper operation of these
systems to the operation of the facility.
{CS Overcooling - PTS| 0 0| 0] OJWEDBEG2.1.3% |This is a Generic, no stem statement is K/A Randomly Rejected 34 |38
associated.
Jegraded Core Coaling| 0 1| 0| 0| OJWEOBEK3.1 Knowledge of the reasons for the following | Facliity operating characteristics during 3.4 [38
responses as they applyto (EMERGENCY |transient conditions, including coolant
PLANT EVOLUTION):(CFR: 41.5/41.10/ |chemistry and the effects of temperature,
45.6/45.13) pressure and reactivity changes and
operating limitations and reasons for these
operating characteristics.
saturated Core Cooling] 0 0] 0| 0| O|WEO7EG2.4.4¢ |This Is a Generic, no stem statementis K/A Randomly Rejected 4 |4
associated.
0 0| 0| 0| 0|WET4EG2.4.4¢ |This Is a Generic, no stem statement is K/A Randomly Rejected 4

oss of CTMT Integrity .

&
N

associated.

Aivmiint O AAND



Tier 2 Group 1

Question Type

ime / Safety Functio| K1| K2| K3 K4| K5|K6[A1]| A2 A3 A4 G K/A Topic(s) KA RO BRO
‘eactor Coolant 0 0|0 0| 1[0]0[|0{ 0| 0|Knowledge of the effect that a loss or Containment isolation valves affecting 003K6.04 P8 B
'ump malfunction of the following will have on |RCP operation

the (SYSTEM):(CFR: 41.7 /45.7)
shemical and 0 0| 0j1]0{0]0| 0] 0| 0|Knowledge of the operational Types and effects of radiation, dosimetry |004K5.17 26 B.1
'olume Control implications of the following concepts as |and shielding-time-distance

they apply to the (SYSTEM):(CFR: 41.5/

45.7)
lesidual Heat 0 0| 0| 1]0[ 0| 0| 0] 0] 0|Knowledge of the operational Need for adequate subcooling 005K5.02 34 B.5
lemoval implications of the following concepts as

they apply to the (SYSTEM):(CFR: 41.5/

45.7)
‘mergency Core 0/ 0|/ 0]0[0]1]0]|0[ 0| 0| 0|Knowledge of the effect thata loss or | HPI/LPI systems (mode change) G06KE.19 57 BO
sooling malfunction of the following will have on

the (SYSTEM):(CFR: 41.7 /45.7)
‘ressurizer 0 gl 0|0 nl_ﬁ 0[ 1| 0| 0 |Ability to monitor automatic operations of |Components which discharge to the PRT |007A3.01 2.7 B8
telief/Quench Tank the (SYSTEM) including:(CFR: 41.7 /

45.5)
somponent Cooling | 0 0/ 0|0[0[0|0|0[1|0[Abiltyto manually operate and/or Control of minimum level in the CCWS  |008A4.07 2.0 .9
Nater monitor in the control room:(CFR: 41.7 / |surge tank

45510 45.8)
ressurizer 0 ojojof{ojOjOj0}O O‘Knowladge of electrical power supplies | Controller for PZR spray valve 010K2.02 PS5 R.7
Yessure Control to the following:(CFR: 41.7)
teactor Protection | 0 0[0[0|0]0f 0] 1[0 0]Ability to monitor automatic operations of | Single and muftiple channel trip 012A3.05 36 B.7

: the (SYSTEM) including:(CFR: 41.7 / indicators

45.5)

ingineered Saft_ v1'o 0| G| 00| 1/0[0]f 0| 0|Ability to predict and/or mor,_ anges |RWST level 013A1.06| 5 B9
SR | - b —f
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Tier 2 Group 1

ime / Safety Functio| K1|K2| K3| K4| K5/ K6| A1| A2] A3] A Question Type KIA Topic(s) KA RO BRO
eatures Actuation ‘ in parameters associated with operating
the (SYSTEM) controls including:(CFR:
41.5/45.5)
ontainment ojoj1|0|l0j0f(0|Of[0O]O Knowledge of the effect that a loss or Containment instrumentation readings  |022K3.02 8.0 B.3
ooling malfunction of the (SYSTEM) will have
on the following:(CFR: 41.7 / 45.6)
' Condenser 0[0|0|0j0|0|0|0]0|0 KIA Rejected 025A2.04 v
ontainment Spray | 0| 0| 0j 0| 0{ 0| 0| Of Of 1 Ability to manually operate and/or CSS controls 026A4.01 45 43
‘ monitor in the control room:(CFR: 41.7 /
45.5t0 45.8)
fain and Reheat o|ojojO]OfO 110/ 0 Ability to (a) predict the impacts of the Increasing steam demand, its 039A2.05 3.3 BB
team following on the (SYSTEM) and (b) relationship to increases in reactor power
based on those predictions, use
procedures to correct, control, or
mitigate the consequences of those
abnormal operation:(CFR: 41.5/43.5/
45.3/45.13)
fain Feedwater T{0|0[0[0/0[0|0|0| 0|0 Knowledge of the physical connections GS 059K1.03 B.1 B.3
and/or cause-effect relationships
between (SYSTEM) and the
following:(CFR: 41.2t041.9/45.7 to
45.8)
wixiliary/Emergency | 0| 0] 0| 0| 0| 1| 0| 0| 0| 0| 0|Knowledge of the effect thata loss or |Pumps 067K6.08 26 R.7
‘sedwater malfunction of the following will have on
the (SYSTEM):(CFR: 41.7/45.7)
\C Electrical 0] 1] 00| 0|0|0|0]|0|0]| 0|Knowledge of electrical power supplies _|Major system loads 062K2.01 8.3 B4
Yistribution to the following:(CFR: 41.7)
u J J
b d et ]f‘ ‘\‘\!/

.
Anmnet @ 2ANAR



Tier 2 Group 1

ame / Safety Functio] K1| K2| K3 K4| K5/ K6 A1| A2 A3 A4f G Question Type KIA Topic(s) KA RO BRO
)C Electrical 0/1/0|0|0[0[0[0[0[0[ 0|Knowledge of electrical power supplies |Major DC loads 063K2.01 9 BA
Jistribution to the following:(CFR: 41.7)
‘mergency Diesel | 0] 0 0[0|0[0|0[ 1| 0| 0|Ability to monitor automatic operations of |Automatic start of compressor and ED/G | 064A3.01 1D
senerator the (SYSTEM) including:(CFR: 41.7 /
45.5)
ifocess Radiation | 0| 0| 0| 0| 0| 0| 1] 0| O] O| O [Ability to predict and/or monitor changes | Radiation levels 073A101 B2 B5
Aonitoring in parameters associated with operating
the (SYSTEM) controls including:(CFR:
41.5/45)5)
jervice Water 0[0[0[0[0|0[0[0| 0|0 1|Thisisa Generic, no stem statementis |Knowledge of operator responsibiliies  |076GG2.1.2 B.0 B.0
associated. during all modes of plant operation.
astrument Air 0/0[0|0|0|0|0|0|0|0]|1|Thisis aGeneric, no stem statementis |Knowledge of the purpose and function |078GG2.1.28 B.2 b.?;
associated. of major system components and
controls.
sontainment D|0|0|1]|0|0|0|0|0] 0| 0|Knowledge of (SYSTEM) design Vacuum breaker protection 103K4.01 ﬂ5.0 fy s
feature(s) and or interlock(s) which
provide for the following:(CFR: 41.7)
teactor Protection | 0| 0| 0| 0| 0| 0| 0| 1| 0| 0| 0|Ability to (a) predict the impacts ofthe |Incorrect channel bypassing 012A2.03 §+4 7
following on the (SYSTEM) and (b)
based on those predictions, use
procedures to correct, control, or
mitigate the consequences of those
abnormal operation:(CFR: 41.5/43.5/
45.3/45.13)
fressurizer D/0|1/0]/0/0|0|0[|0|0[0|Knowledge of the effect that a loss or Containment 007K301 8.3 B6
telief/Quench T malfunction of the (SYSTEMX ! have ‘
Sy on the following:(CFR: 41.7 )
\.u/f o s ’

=
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Tier 2 Group 1

ame / Safety Functio| K1] K2 K3] K4] K5| K8|A1] A2 A3| A4 G Question Type KIA Topic(s) KA RO BRO
ervice Water 1/0[0[0/0(0|0[0]| 0|0 0[Knowledge of the physical connections |PRMS 076K1.17 B6 p.7
and/or cause-effect relationships
between (SYSTEM) and the
following:(CFR: 41210 41.9/45.7 to
45.8)
fain and Reheat T{0[0[0[0f{0[0[0[ 0[O0 0|Knowledge of the physical connections | RCS temperature monitoring and control |030K1.04  B.1 B.A
team and/or cause-effect relationships
between (SYSTEM) and the
following:(CFR: 41.2t0 41.9/45.7 to
45.8)
lain Feedwater 0[0[1]0[0[0]0]0]0]0]0fKnowledge ofthe effectthata loss or  |AFW system _ 059K3.02 PB6 B.7
malfunction of the (SYSTEM) will have
on the following:(CFR: 41.7 / 45.6)
eactor Coolant o{a|ojo0|0y0] 1[0 0f 0| OJAblity to predict and/or monitor changes |RCP motor stator winding temperatures | 003A1.03 F.s .6
ump in parameters associated with operating
the (SYSTEM) controls including:(CFR:
415/455)
ressurizer ofojojo[ojo[oj0|0|0[0 KIA Rejected 007K4.07
glief/Quench Tank
strument Air ojoj o[ 1] ojo0]0]0] 0[]0 0|Knowledge of (SYSTEM) design Manual/automatic transfers of control _ |076K4.01  R.7 .9
feature(s) and or interlock(s) which
provide for the following:(CFR: 41.7)

Acimecad A MAAARA



Tier 2 Group 2

ame / Safety Functio| K1 K3| K4| K5{ K6|A1p2 A3 p4 Question Type _ K/A Topic(s) KA RO BRO
{ydrogen 0 0] 0| 0|0} 0| 0| O] O| O|Thisis a Generic, no stem statementis |K/A Randomly Rejected 028GG2.450(33(33
tecombiner and associated,
turge Control
sontainment Purge | 0 ojojolojofolof1 Abllity to manually operate and/or Containment evacuation signal 029A4.04 35(36
monitor in the control room:(CFR: 41.7 /
455 to 45.8)
jpent Fuel Pool 0[0[0[1[0]0]0[0[ 0] 0] 0[Knowledge of (SYS1EM) design Adequate SDM (boron concentration)  |033K4.05  |3.1 |3.3
sooling feature(s) and or interlock(s) which
provide for the following:(CFR: 41.7)
‘uel Handling 0 ool ojafojolol1d Ability to manually operate and/or Neutron levels 034A4.02 35(38
iquipment monitor in the control room:(CFR: 41.7 /
455 to 45.8)
feam Generator 0 0] 1/0(0] 0] 0| 0] 0[ 0|Knowledge of (SYSTEM) design Automatic blowdown and sample line 035K4.03 26128
feature(s) and or interlock(s) which isolation and reset
provide for the following:(CFR: 41.7)
team 0 o[ 0J o]0l ofo0] 0|0l 0]Abiiyto (a) predict the impacts of the  |K/A Randomly Rejected 041A202 [36(3.9
ump/Turbine following on the (SYSTEM) and (b)
lypass Control based on those predictions, use
procedures to correct, control, or
mitigate the consequences of those
abnormal operation:(CFR: 41.5/435/
45.3/45.13)
lain Turbine 0| 0| 0| 0[0[0[0[ 1[0 O O|Abilityto (a) predict the impacts of the _|Control rod Insertion limits exceeded 045A2.12 |25]28
ienerator following on the (SYSTEM) and (b) (stabilize secondary)
based on those predictions, use
procedures to correct, control, or
mitigate the consequences of those
abnormal operation:(CFR; 41.5/43.5/
45.3/45.13) _

At 8 HNNR



Tier 2 Group 2

ime / Safety Functio

K1

K2

K3

K4| K5

K6

A1A2

Question Type

K/A Topic(s)

RO

BRO

ondenser Air
lemoval

Abllity to (a) predict the impacts of the
following on the (SYSTEM) and (b)
based on those predictions, use
procedures to correct, control, or
mitigate the consequences of those
abnormal operation:(CFR: 41.5/43.5/
45.3/45.13)

K/A Randomly Rejected

0585A2

iquid Radwaste

Ability to (a) predict the impacts of the
following on the (SYSTEM) and (b)
based on those predictions, use
procedures to correct, control, or
mitigate the consequences of those

|abnormal operation:(CFR: 41.5/435/

453/45.13)

K/A Randomly Rejected

068A2.03

2.5

vaste Gas Disposal

nowledge of the effect that a loss or
malfunction of the following will have on
the (SYSTEM):(CFR: 41.7 /1 45.7)

K/A Randomly Rejected

071K6

26

rea Radiation
lonitoring

Abllity to manually operate and/or
monitor in the control room:(CFR: 41.7 /
45.5 to 45.8)

K/A Randomly Rejected

072A4.03

3.1

3.1

irculating Water

Ability to manually operate and/or
monitor in the control room:(CFR: 41.7 /
45.5 to 45.8)

K/A Randomly Rejected

075A4.01

3.2

32

tation Air

Knowledge of the effect that a loss or
malfunction of the (SYSTEM) will have
on the following:(CFR: 41.7 / 45.6)

K/A Randomly Rejected

079K3

ire Protection

-

This Is a Generic, no stem statement is
associated.

Knowiedge of the purpose and function
of major system components and
controls.

086G2.1.28

3.2

33
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Tier 2 Group 2

ime / Safety Functio K1| K2|K3| K4| K5| K6| A1 G Question Type _ _KIA Topic(s) KA RO BRO
:ontrol Rod Drive 0/0]{0|0(0j0]0| 0| 0| 0] 0|Knowledge of electrical power supplies |K/A Randomly Rejected 001K2.05 31135
to the following:(CFR: 41.7)

leactor Coolant 0|0[1/0[0|0]|0|0[0[ 0| 0[Knowledge of the effect that a loss or Containment 002K3.03 42146
malfunction of the (SYSTEM) will have
on the following:(CFR: 41.7 / 45.6)

ressurizer Level 0[0|0[0[0[0|0[|0]0] 0| 0|Knowledge of the effectthata loss or | K/A Randomly Rejected 011K3.02 35137
;ontrol malfunction of the (SYSTEM) will have

on the following:(CFR: 41.7 / 45.6)

'od Position 0|o[o0[0[1|0|0]0 0| 0[Knowledge of the operational RPIS Independent of demand position  |014K5.02  |2.8 |3.3
idication implications of the following concepts as

they apply to the (SYSTEM):(CFR: 41.5/

457)
fuclear 0j0j0l0[0|0|0[0]| 0] 0| O|Abillty to monitor automatic operations of |K/A Randomly Rejected 015A3.02 3739
istrumentation the (SYSTEM) including:(CFR: 41.7 /

45.5)
on-nuclear 0|0/0[0/0[0| 0| 0| 0] 0[Abilty to monitor automatic operations of | K/A Randomly Rejected 016A3.01 29129
strumentation the (SYSTEM) including:(CFR: 41.7 /

45 5)
\-core 1010/ 0] 0] 0| 0| 0| 0| 0| 0|Knowledge of the physical connections | Plant computer 017K1.01 3232
emperature and/or cause-effect relationships
lonitor between (SYSTEM) and the

following:(CFR: 41.21t0 41.8/45.7 to

45.8)
ontainmentlodine | 0| 0| 0| 0| 0| 0| 0| 0| 0| 0| 0|Knowledge of the effectthata lossor | K/A Randomly Rejected 027K3 0 [0
amoval malfunction of the (SYSTEM) will have

on the following:(CFR: 41.7 / 45.6)

ondensate '\,,l-"o 0/ 0/ 0[0/0|0]0]0[0]|1|Thisisa Generic, nostem ste._.entis | Ability to locate and operate 056G2.1.30- .0 (34

Arvimiink A




Tier 2 Group 2

»hme | Safety Functio|

K1

K4| K5

Ke[A1A2 A3 A4

Question Type

KIA Topicis)

RO BRO

associated.

componsnts, including local controls.

N



Tier 3

‘ Group KA Topic RO SRO
Jonduct of Operations G2.1.3 Knowledge of shift turnover practices. 3 34
Jonduct of Operations G2.1.22 Ability to determine Mode of Operation. 2.8 3.3
~onduct of Operations G2.1.1 Knowledge of conduct of operations requirements. 37 3.8
?’quipment Control G2.2.11 Knowledge of the process for controlling temporary changes. 25 3.4
iquipment Control G2.2.24 Ability to analyze the affect of maintenance activities on LCO status. 2,6 3.8
‘quipment Control G2.24 (multi-unit) Ability to explain the variations in control board layouts, systems, 28 3
instrumentation and procedural actions between units at a facility.

adiation Control G2.3.9 Knowledge of the process for performing a containment purge. 2.5 34
adiation Control G2.3.2 Knowledge of facility ALARA program. 2.5 2.9
mergency Procedures/Plan G2.4.14 Knowledge of general guidelines for EOP flowchart use. 3 3.9
mergency Procedures/Plan G2.4.43 Knowledge of emergency communications systems and techniques. 2.8 35
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ot AUVA - 301-2
ES-401, Rev. 9 Record of Rejected K/As Form ES-401-4

Tier/ Randomly Reason for Rejection

Group Selected K/A

11 025AA1.19 NAPS does not have block orifice bypass valves for RHR
NRC randomly selected KA 025AA1.03 as a replacement.

1/1 057AA2.02 The level and pressure indicators for the accumulators have
duel power supplies. Loss of a vital bus has no effect on
these indications. NRC randomly selected KA 057AA2.15 as
a replacement.

1/2 WE15EG2.133 This Generic does not have a relationship to this safety
function/system. NRC randomly selected WE15EG2.1.23 as
a replacement.

K Knowledge of the CVCS system could be better tested then

2N 004K5.17 using a KA tested in Group 3 under G2.3. NRC randomly
selected KA 004K5.35as a replacement.

21 012A2.03 Will be difficult to write a question that will meet the b) part of
the KA. NRC randomly KA 012A2.07 as a replacement.

1/2 036AA1.03 Similar 029A4.04. NRC randomly selected KA 036A1.04 as

a replacement.
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